potenssit maa1.notebook

“FOTENSSIT
S et
L bk k= bk
A v =
komtodmten

/F'l . Y -

0:“: 000 _ - O )/hé 7
—
m lepl
/‘FO\LU"V”Y\.SM
™ m M+m o cotemy
1 oo = o A aﬂ;.tmn‘mk
Crme 51'5'1= Q“H’i
:)_ O\'M m-m
T=0\ A |,--j,’r§t
(S 0 Sonmaani
tmd LY 2
— _I__g =;
h @MY‘_ am-m o‘knm;«m
6'“‘1 —gl ik -t w
= (5
h (a )"‘: o b” Fudon r"i""”;
——
b _C b o
=2 (63)=5> = 4
s O‘r :_QL’: bh+0 Osemanor
b Y P"L“"‘””"
omb (5N _ 5,
?X 3
\2 L.
trim 1 ;ﬁ-\; LA WS I 29+ =2
- > 5) 9*
) . . .
- + {6 e Fdowabs
b. N ,Q#0, oM  Te
o ¥ A=
ToaT g flan
e 5 ”l'=_,'.—:
— gl..

August 29, 2014



	Sivu 1: elo 29-9:02

